SONY.

AO—41)—TI>3—41="y b/Rotary Encoder Unit/ Drehenkoder Elnheit

RA510 Series

RA510-036, 360

OISR 2 BE W ET W2 E, $2LI2HD 0L TX0ET,

ZHERIC A B ENC 2 OHTEHME 2 RBE L ThHiAW7m &, KEEO § ORREE 771
ZHHL 2 &0,

F 72, HUFBEPHE IS RUNCRE LT 230,

NOTE TO USERS
Read all the instructions the manual carefully before use and strictly follow them.
Keep the manual for future references.

HINWEIS FUR DEN BENUTZER

Lesen Sie die ganze Anleitung vor dem Betrieb aufmerksam durch und folgen Sie beim
Betrieb des Gerates ihren Anweisungen. Heben Sie die Anleitung danach zum spéteren
Nachlesen griffbereit auf.

{154 BAE / Installation Manual / Montageanleitung



H % / Contents / Inhalt

21, EEROHEDAFT
22, Froaay FOERE..

GENERAL PRECAUTIONS ...

INSTALLATION ....cocccnvmieemrmsioeninsnnne

1. DIMNENSIONS 11vvvverreriererrnisnrss s rssest et s se s sersss s sr s rvasrnss s smerssresnsassessenes
2. Installation method ..o veeciircacaens
2-1. Installing the MAain WL .....coooeeeeeerecrre e e e
2-2. Fastening the detector UNit .......oeveeererccnenenescnnicccone e

ALLGEMEINE VORSICHTMASSNAHMEN ......coovviiiiis e

MONTAGEANLEITUNG .......cccceene

1. ADMESSUNZEN ..o s et n

2. Installationsmethode .....cccoveeeiiinveennninnn,
2-1, Installation des Hauptgeriits ...

2-2, Die Detektoreinheit befestigen . ..o e 15



—ROVEERER

AR ESHERZEL <BEVNEELEHDO—RE
ABBRTY, B4OFRBCIR LOTEREZ. AW
SRAECEREN R BESICERESEHLT
WBEHRBESIRC LES >T<EELY,

IBEF BT ICIR. MRS ORES S UK
B ERCFBIL TWB S EERBLTHEDE
A<EEN,

 MHESH F-GEL eSS, SEOBRSEMILE
T BEHOTABRENBEEHL CTERA<ES
LY,

B TRENERBRUATOER, FEidbs%
BENERRCDOVNTIE. BEESEUHESOET
BTEFRBAOTTBEESL,
LHORPE MORE-LESHE T ERCES
1BE, EERM%. BEHECEY, ZOMAES
U ERESNALES S BUETOT. 5
SRIEDSISTER<ES L,

g5

REBHHMIES (EN60204-1) OES ST DS
CAFBDIBEE. EORBIBESITBRLSCHE
EBELUTHLS. ZERAESLY,

* RHRFE RGO PEEBTI TEC DVTORS
BWBIRBIEDVWTOHEE L 26D TY, EHLTR
REREEIEEIR, B 2-Svb - NUBEFEDOE
AIRRCNT SHBEEBFCOLTIFERSLE
HRREEN BIZREBEENTWEITOTES S 2SR
LTLEELW,



20
==

35

19

=

/ Y- GMI:K,»(..%

MG 99-¢ BXIL0=d)7W-¢

@

A
/

NET

1.

[1:1 BB
sttt “XIHL

SERPEY Y

4 Vd . D " -
G-rRSY v R MBI 7 CEITT : o




2. BMUNOEA

2—1. 3FEOWMUK

ORI+ IMZRAL 1 0XFEBHCEALTY., 0B BELAHEZEATEHVNESCESLT
BTHITLLEEL,

QHRUNITRAFY M TRAS 1 02V P MCBELES, 2ORTY MIELTSYZFAOT
Wi BOEREBRE TS,

ONEDOMATBRNERIL S 2FEFTVIPTRAS 1 0FXEEBELET,
(FEfdbIL2: 2. 54 N-m)

PRUAAF b (EBTCAETEG)

MAX12 (HEd )

79+ (§RR )

RiFTAM4% 97 (24 5)




ERUHE

I GES

4BLE (ABARRAED )
e (54 58 F)

] u B
477
~ [ 00z [A]
= e 3. (6) (M20XP1 )
ey i

$20 g7 0%

BtRATy b
[A] /  BEECRET v )
]

/01 A
(=t
FERMRLE M4x1 2 2%
FIVY P 218
BARIRL M4X28 2%



2—-2. FFIII-VIDEFE
BRI OND SHUEEERERT, BANNRL (M4X28) TEELEY,
CFFOPATY NG, DIN-ERTUBETERSSIZELTSESL,

-ﬁ\\

=

NDNN-zdTL. BERYEENIERE. T
LEIDNY FIHBRLE>BYENZE>TNBS
EETHERBEEL,

DB R LW/ F VT ERENECER
DRfrshTuVEnE, F7091-v oy —
IHTETLITOTTERLESL,

BANPRAL (M4 x28)



B GENERAL PRECAUTIONS

When using Sony Manufacturing Systems Corporation products, observe the
following general precautions along with those given specifically in this manual
to ensure proper use of the products.

- Before and during operation, be sure to check that our products
function properly.

- Provide adequate safety measures to prevent damages in case
our products should develop a malfunction.

- Use outside indicated specifications or purposes and modification
of our products will void any warranty of the functions and
performance as specified of our products.

* When using our products in combination with other equipment,
the functions and performance as noted in this manual may not
be attained, depending upon operating environmental conditions.
Make a thorough study of the compatibility in advance.

[For EU and EFTA countries] [For the customers in U.S.A.]

Making by the symbol CE indicates compliance of the WARNING
EMC directive of the European Community. Such

marking is indicative meets of exceeds the following This equipment has been tested and found to comply
technical standards with the limits for a Class A digital device pursuant to
EN55011 Goup 1 Class A/91: Part 15 of the FCC Rules. These limits are designed
“Limits and methods of measurement of to provide reasonable protection against harmful
electromagnetic disturbance characteristics of interference when the equipment is operated in a
industrial,scientificandmedical(ISM) commercial environment.
radio-frequency equipment” This equipment generates, uses and can radiate
EN 50082-2/95: radio frequency energy and if not installed and used
“Electromagnetic compatibilty - Generic immunity in accordance with the instruction manual may cause
standard Part 2 : Industrial environment” harmful interference to radio communications .

Operation of this equipment in a residential area is
likely to cause harmful interference in which case the
user will be required to correct the interference at his

When using thos device with equipment governed by Machine expense. ) ) .
Directives EN 60 204-1, measures should be taken to ensure You are cautioned that any changes or modifications
conformance with those directives. not expressly approved in this manual could void

vour authoritv to operate this eauioment.

Warning

* This installation manual only provides basic information on mounting procedures and dimensions.
For detailed description of operation, cautions, protective measures against oil, coolant and
chips, etc.,a separate instruction manual is available upon request.



Dimensions

1.

/ MBI0S PEIY PUNOY

ajoy Bununop G9¢-7 \ geX (L 0=dI7H-Z

35
520
-

3
#16

3

yuns: (I

gy 19

8 9/
ajoy Bununo

¢ 110

=
O

&/ 00 9 yond

8joy Bununop

—

GE=0)d

a)

ey Bupunopy

440

goe) Bununo

$288
§48

. 07c4-
Bl Bupa Ubuo T4IHoP 90U LURI 7 AL

laysemield ~ osoey Bupunopw |
ZXTW-C

Mai0s Bulyoene jun uiepy

soe} Bununop



2. Installation method

2 — 1. Installing the main unit

@ Gently insert the RA510 into the installation shaft. Take care not to use more force than is needed
When performing this operation.

@Secure the RA510 to the shaft using rounded nut designed for installaion.  As this nut is not included,
prepare a rounded nut separately to meet the shape of the end.

@ Secure the RA510 main unit using the two appended M4 hexagon socket head cap screws and
plain washers. (Tightening torque: 2.54 N-m)

Rounded nut for installation

(Prepare this separately)

M4 X 12(accessory)

(a0

Plain washer(accessory)

M4 tap for installation
{two location)




(Mounting hole pitch)

{MOO 0.2

Mounting measurements

Mounting screw 2-M4

(54.4 or more)

/ {46)

N\

W

429 9

AR

(4 or more) / (hexagon socket head cap screw

A o0z [A

- 3 .01 (6)
z‘m
( i H-
z
[~ o !
i;:
@ -

(M20XP1)

Round nut for mounting

(Prepare this separately)

]

Accessories

Hexagon socket head cap screws M4 X 1 2

Plain washers

g%

Round head screws M4 X2 8



2 — 2. Fastening the detector unit

- Select a place suffering from less vibration, dust and mist,fasten with flange screw (M4XX28).
+ Please consider it to remove a cover,can adjust it the detector unit.

Caution
When fe—attaching the cover after having removed
it once, make sure that the rubber packing fits
properly inte the groove.
Be aware that if the packing cannct be installed to
its correct position due to being caught,the sealing
properties of the detector unit witl worsen.

Round head screws{M4 X 28) @3%

10



BALLGEMEINE VORSICHTSMABNAHMEN

Beim Einsatz von Geraten von Sony Manufacturing Systems Corporation sind
die folgenden allgemeinen VorsichtsmaBnahmen zuséatzlich zu den in der
vorliegenden Anleitung jeweils speziell angegebenen Warnhinweisen zu
beachten,um einen korrekten Einsatz des Gerats zu gewéhrleisten.

- Vor und wihrend des Betriebs sicherstellen,dall das Gerit korrekt
funktioniert.

- Geeignete Sicherheitsvorkehrungen zur Vermeidung von Schéden fur
den Fall ergeifen,dall am Gerit eine Storung auftritt.

- Wird das Gerit auBlerhalb der angegebenen Spezifikationen und
Einsatzzwecke verwendet oder werden am Gerit Anderungen
vorgenommen,kann keine Garantie fir Funktion und Leistung
itbernommen werden.

- Beim Einsatz des Gerits mit einem anderen nicht empfohlenen Gerit
werden u.U.je nach Betriebsbedingungen die in der vorliegenden
Anleitung aufgefithrten optimalen Funktionen und Leistungen nicht
erreicht. Daher die Kompatibilitat im voraus griindlich prifen.

[For EU and EFTA countries] Warnung
. Wenn dieses Gerat mit Ausristungsteilen verwendet wire |
CE Notice die von den Maschinenrichtlinien EN 60 204-1 geregelt

] o ) werden, mussen Mainahmen ergriffen werden, um eine
Making by the symbol CE indicates compliance of the  (jpreinstimmung mit diesen Normen zu gewahrleisten.

EMC directive of the European Community. Such
marking is indicative meets of exceeds the following
technical standards

EN55011 Goup 1 Class A
“Limits and methods of measurement of
electromagnetic disturbance characteristics of
industrial,scientific and medical(ISM)
radio-frequency equipment”

EN 50082-2:
“Electromagnetic compatibilty - Generic immunity
standard Part 2 : Industrial environment”

* Diese Montageanleitung enthélt nur grundlegende Informationen zu Aufbau und Abmessungen ¢ 3s
Gerites. Detaillierte Beschreibung der Operationen, Warnungen, Schutzmalnahmen gegen
O | ,Kihimittel und Spine etc. k 6nnen Sie einer separaten Gebrauchsanweisung entnehmen,
die auf Anfrage erhéltlich ist.

11



Abmessungen

1.

35
520
==

-l

/ usgnelyosidoxpuny

:oo_mmscg 8EX(L0=d)7W-¢

5]

-—

m
m

42
¢lo

8 9L
yoojebejuopy
G7¢-¢

ayogiebejuop

ayoeysbejuon

..l
[}
<2
(o]

_ o
[
=

.mql o
=

12

4 M s

= (O F o oo oo

. SIE|R 9y QIR
Q/ 00L ¢ Jossew - -

Yl toinpyoojebejuopy .

@ =1

GE=07d aqjeyostiepeiun _
07669 UXIW-g  UPEHeDENON
Bunsepuewsbunianyy Al 6 56|t Uagnelyosabeop
-pundsbuebsny  ¥-@1BIYQ0]18 SSYIsanelyog o -yeyuieidneH

syoe|jebejuop



2. Installationsmethode
2 — 1. Installation des Hauptgeriits

@ Vorsichig den RA510 in die Installationswelle. Darauf achten, nicht mehr Kraft als
nitig dabel zu verwenden.

@Den RA510 an der Welle mit einer abgerundeten Mutter zur Installation anbringen,
Da diese Mutter nicht mitgeliefert ist, muB sie separat vorbereitet werden, um der
Endrorm zu entsprechen,

@ Die RA510 Haupteinheit mit den beiden mitgelieferten M4 Sechskantkappenschruben
und Unterlegscheiben befestigen.{Anzugsdrehmoment: 2.54 N-m)

Adgerundete Mutter zur installation
{separat vorbereiten)

M4 X 12(Zubehor)

Untertegscheibe(Zubehor)

M4-Stift zur installation
{zwei Stellen)

13



Installationsmale

$100 02 (Installationslochtiefe)

4 oder mehr

Installationsschraube 2-M4

{Sechskantkappenschraube)
(54.5 oder mehr) -

i / (46)

N

NN
RN

/1 002 |A

3 401 (6) (M20XP1 |

‘

N 188
R 4 0 | ==
[ ~ o
[l\l
[w)
o Rundmutter zur [nstallation
o~ | N
IE = (Separat vorbereiten)
a /
=
Zubehdr
Sechskantkappenschrauben M4 X 1 2 2
Unterlegscheiben 2
Rundkopfschrauben M4 X2 8 2

14



2 — 2. Die Detektoreinheit befestigen.
+ Einen Ort mit méglichst wenig Ol und Spinen wahlen und mit
Flanschschrauben(M4 X 28) befestigen.
* Beim Entfernen von Abdeckungen die Detektoreinheit entsprechend justieren.

Achtung:

Beim Wiederanbringen der Abdeckung nachdem sie
einmal entfernt wurde, sicherstellen, dall die
Gummipacking fest in die Rille pafit.

Darauf achten,dafl wenn die Packung nicht in ihrer
richtigen Position installiert werden kann, weil sie
verfangen ist, die Dichteigenschaften des Detektors
beeintriachtigt werden.

Rundkopfschrauben{M4 X 28)\ M

15






IOV =2 7RI E T B FHOFHERIZSHEIZH
D, SN IHESBAZOHHEZHNE LTWET,
L7=h 5T, etz UICHER THEE L7220 . 3N
A OBRE, P AL) LRAZHNTAY = 2 7 LA
THIELESEELET,

The material contained in this manual consists of
information that is the property of Sony Manufacturing
Systems Corporation and is intended solely for use by
the purchasers of the equipment described in this
manual.

Sony Manufacturing Systems Corporation expressly
prohibits the duplication of any portion of this manual
or the use thereof for any purpose other than the
operation or maintenance of the equipment described
in this manual without the express written permission
of Sony Manufacturing Systems Corporation.

Le matériel contenu dans ce manuel consiste en
informations qui sont la propriété de Sony
Manufacturing Systems Corporation et sont destinées
exclusivement a l'usage des acquéreurs de
I'équipement décrit dans ce manuel.

Sony Manufacturing Systems Corporation interdit
formellement la copie de quelque partie que ce soit de
ce manuel ou son emploi pour tout autre but que des
opérations ou entretiens de I'équipement a moins
d'une permission écrite de Sony Manufacturing
Systems Corporation.

Die in dieser Anleitung enthaltenen Informationen
sind Eigentum von Sony Manufacturing Systems
Corporation und sind ausschlieBlich fir den Gebrauch
durch den Ké&ufer der in dieser Anleitung
beschriebenen Ausriistung bestimmt.

Sony Manufacturing Systems Corporation untersagt
ausdrucklich die Vervielfaltigung jeglicher Teile dieser
Anleitung oder den Gebrauch derselben fur
irgendeinen anderen Zweck als die Bedienung oder
Wartung der in dieser Anleitung beschriebenen
Ausristung ohne ausdrickliche schriftliche Erlaubnis
von Sony Manufacturing Systems Corporation.



BRI OVWTOSHEVnEDYE
V=R ZaT7I9Fa7VT AT LXGERSH

d—JbE> 22— T259-1146 HZ=)|EFRETG)I46
ST RIS B SR T259-1146 7RI EARBAE Hi$5)1145
#iki R T4650095 FEHIEZEERER#HX E2-171
KB T532:0011  KERIFFRBRHvENX i /52-146 HikBREE2 F 4 e
Y- 2 T259-1146 M) 1| ELFEAE T $5)1145
H—E XRITIE
e hX N (¥k) #LIE~ 5 o 2%
b, B, FIEhIX W () fRMERE
T (Bk) 77— bEFF
o, ACkERhX 5351 71 b —pEE (BR)
A (H) #AT
W, WE. DOERX KR () = TEEYy -2
= (bk) =HET
JUMHBIX. &l o=y rvs ()

TEL: 0120-55-7973

TEL: (0463) 92-7971
TEL: (052) 778-3181
TEL: (06) 6305-3101
TEL: (0463) 92-2132

TEL: (011) 631-3401
TEL: (0424) 929191
TEL: (045) 582-8649
TEL: (0583) 83-6234
TEL: (0568) 72-1435
TEL: (06) 6724-7005
TEL: (082) 831-5261
TEL: (092) 963-1296

FAX: (0463) 92-7978
FAX: (052) 7784147
FAX: (06) 6304-6586
FAX: (0463) 92-3090

Sony Manufacturing Systems Corporation
Isehara Plant
45 Suzukawa, Isehara-shi, Kanagawa 259-1146 Japan

Sony Precision Technology America, Inc.
20381 Hermana Circle, Lake Forest, CA 92630, U.S.A.

Sony Precision Technology Europe GmbH
Heinrich-Hertz-Strasse 1, 70327 Stuttgart, Germany

TEL: +81 (463) 92-7971

TEL: (949) 770-8400

TEL: (0711) 5858-777

FAX: +81 (463) 92-7978

FAX: (949) 770-8408

FAX: (0711) 580715

http://www.sonysms.co.jp/

V=S Za779FaT7V T AT LAIKASH
Sony Manufacturing Systems Corporation

RA510 Series
2-914-657-02
ZOF =2 7 VIREAEREHL TS,

T346-0035 Hi LA FHEAMN1-10
1-10 Kiyoku-cho, Kuki-shi, Saitama 346-0035 Japan

2004.4
Printed in Japan

©2001 Sony Manufacturing Systems Corporation



	表紙
	日本語
	目次
	一般的な注意事項
	取付説明
	1. 外観寸法
	2. 取り付け方法
	2-1. 本体の取り付け
	2-2. デテクタユニットの固定



	English
	Contents
	GENERAL PRECAUTIONS
	INSTALLATION
	1. Dimensions
	2. Installation method
	2-1. Installing the main unit
	2-2. Fastening the detector unit



	Deutsch
	Inhalt
	ALLGEMEINE VORSICHTSMASSNAHMEN
	MONTAGEANLEITUNG
	1. Abmessungen
	2. Installationsmethode
	2-1. Installation des Hauptgeräts
	2-2. Die Detektoreinheit befestigen



	著作権
	裏表紙

